
Answer on Question#42693 – Math – Geometry 

Suppose a cylindrical tank is 12 feet long and 2 feet in diameter. The tank is laid on its side and 

filled with water to a height of 7 inches. Given that the volume of water in the tank is equal to 

the length of the tank times the cross-sectional area of the water, find the tank's volume. 

Solution: 
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The volume of water in the tank is: 

𝑉 = 𝐴𝑙 

Where 𝐴 is the area of a segment and l is the length of tank 

Given 𝑟 =  1 𝑓𝑜𝑜𝑡, since the radius is half the diameter, ℎ =  7/12 𝑓𝑒𝑒𝑡 , 𝑙 = 12 𝑓𝑒𝑒𝑡 

The area of a circular segment is: 

𝐴 = 2(𝐴𝑀𝑂𝑅 − 𝐴𝑀𝑂𝑃) 
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So the volume of water in the tank is: 

𝑽 = 0.7622 ∙ 12 = 𝟗. 𝟏𝟒𝟕 𝒇𝒆𝒆𝒕𝟑 
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